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&
. QUESTION NO. 1 —

Number of units that must be sold:
(a) If sales price is Rs. 325

Number of units = Rs. 112,000 + Rs. 49.20 = 9,276 units
(b) If sales price is Rs. 350 -
Number of units = Rs. 112,000 + Rs. 74.20 = 1,509 units
WORKING: ,
Q&lculati_g_n of Gross Profit of the Last Year: _ Rs.
Sales 2,000 units x Rs. 280 060,000
Less: Cost of goods soid . - ..518_19_(_)2
~ Gross profit (Rs. 560,000 x 25/125) | 112,000
Calculation of Unit Cost of Last Year:
Total cost per unit : (Rs. 448,000 + 2,000 units) 224
Materials cost per unit (Rs. 224 x 40%) . 89.60
Labour cost per unit (Rs. 224 x 45%) 100.80
Factory overhead cost per unit (Rs. 224 x 15%) 33.60
Calculation of Unit Cost of Coming Year:
Materials cost per unit (Rs. 8,960 + 25%) . 112.00
Labour cost per unit | (Rs. 100,80 + 25%) 126.00
FOH cost per unit (Rs. 33.60 + 12.5%) 37.80
Total 975 80
Calculation of Expected Gross Profit Per Unit:
GP per unit = Sales price per unit — Total cost I;er unit

' (a) If sales price is Rs. 325 per unit |
GP per unit = Rs. 325.00 - Rs. 275.80 = Rs. 49.20
(b) If sales price is Rs. 350 per unit

GP perumit = Rs. 350.00 - Rs. 275.80 = Rs 74_20-

QUESTION NO. 2
' CALCULATION OF COST OF PRODUCTION:

Material |
. - ' | 56 25
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worked. Therefore,
Direct labour cost

b Halsey Plan:

Regular wages (6 hours x Rs. 7.50)

Premium

(C) M

" (3 hours x Rs. 1.50) x 509
Total wages

Regular wages (6 hours x Rs. 7.50)

Premium

Total wage

€., the time allowed) irre

spective of the time

Rs. 45.00
11.25

_Rs. 56.25

(3 hours + 9 hours) x (6 hours x Rs. 7.50)

Rs. 45.00
15.00
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QUESTION NO. 3

M

June
Applied FOH

Budgeted FOH |,

ud Variance:
Budgeted FOH
Actual FOH

July
Applied FOH
Budgeted FOH

Budgeted Variance:
Budgeted FOH
Actual FOH
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Budgeted Capacity

8,000
6,000

o

Rs.
64,000
64,000

—

Zero

Rs.
64,000
__70.000
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Budgeted FOH

64,000
06,000

6,000







